15

8.5

14

m3




X

1,352 / >

15.7 > 70.0 —=

0.609

205 475

1,193 —= 38

.1933
2.0
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BGM

2.9m

10

ALC




16 16

. 6:00 22:00
22:00 6:00
dB
6:00 22:00 22:00 6:00

A 39 55 30 45 4.5m
A 44 55 30 45 135
B 34 55 30 45 13.5

D B 36 55 30 45 15
B 37 55 30 45 15
A 35 55 30 45 15




dB

22:00 6:00
P1
P2
P3
9.36 , 11.79 11.07
0.382 X
1.2
3 0.10 458 3
0.044 X
1.2
3 0.15 0.35 s
0.334 X

1.2
3 0.15 2.67

3




9.6







JR 2.1km
409




522 +611 =

950 / < S 9.948
> 15.7 < 75.0 = 2.0
> 1.412 786
950 / < S 16.64
< 15.7 < 75.0 = 2.332
> 1.638 1,308
1,308 786 522
893
242
37 1
9,948 =28 = 355.3
12,949 —+355.3 =
97
3,691 =+ 38
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22:00

6:00

BGM

4.5m

42

10
2.4

ALC
5 ALC

16

6:00

22:00




dB

6:00 22:00 22:00 6:00
B 48 55 40 45
B 45 55 40 45
B 52 55 37 45
B 50 55 31 45
B 51 55 30 45
B 44 55 30 45
dB
22:00 6:00




3

3

0.10

0.1

0.15

1.798 X

17.98 3

0.307 X
3.07 3
1471 =<
1 =
9.807 3

10.9
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3,831

—=38

101

15.7

0.851

986

/

75

3.831




No
Ne

No
Ne










(6 00 22 00)

dB
6:00 22:00 22:00 6:00

42 55 31 45
45 55 <30 45
43 55 <30 45
47 55 <30 45
42 55 <30 45
44 55 <30 45

dB

22:00 6:00
44 45




m3
29.8ms3

Al
B

19.16m3
= A 1

B

0.1 0.1
A1l
B

5.01ms3

29.83

6t=30 =<3 -=0.12 5.00

0.25>=<3.83

0.037><3.83
C
2.83
0.098><3.83

0.10
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